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P1OAE: ['LfA", 'peakTgtLAl']
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P10OAE (plot by DAT)
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P10OAE TsN1 (plot by DAT)

Harvept

|—-——-@

Turn Color

60

40
Days After Transplant

20

o o
(o] <
Buippng 1oy sAeqg

80 A

20 A



P1OAE TsN2 (plot by DAT)
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P1OAE TsN3 (plot by DAT)
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Days After Budding

P1OAE TsN4 (plot by DAT)
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P1OAE TsN5 (plot by DAT)

fm—————
Harvept

Turn Color

()
Fruit Set

Anthesis

Budding

60 -
50 A
40 A
0
0
10 A
0

Buippng 1oy sAeqg

Days After Transplant

50

40



P1OAE TsN6 (plot by DAT)
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P10AE (plot by adjDAT)

]
' i-e
1
° ! ]
] —||0“
1 I
4 1 (. o
1 -9 ““ )
1 1
L 1 _—
o T 11
“..L 1 | [
n 1 Lo
_unVu.*r_ “ 11
M_Io“ ! ““
o
$is
! rE L
P T
11 “ “ | # o
(T L
R “ : ©
T %!
11 ! 4_
11 I I | t==@
I T
1 | 1
T ® *rll._
““ (] 1 _“
1
! AR
-
11 1 4“_
.".F IIIIIIIIIIIII L 1 1| *=-———0
|||||||||||||||||||| e m e T T T
| .f_ .“.“ o
1 O_|||4__ <
“ | 4 ___
11
I | [ T ®
1 o I
b i “_
|||||||||||||| "
wpl..wuf__
o _._rn_“_
b " b
L
|1 I =
L 1if
.|||+_A =)
“— lllllllll -. N
I
I
I
I
I
I
e e ©
1
! o
“ <
- d
i S
[ e @ [°
T T T T T T T T
o o o o o o o o
~ (e} Tel < m N —

Buippng a1y sAeqg

Days After Transplant



Days After Budding

P10AE TsN1 (plot by adjDAT)
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Days After Budding

P10AE TsN2 (plot by adjDAT)
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P10AE TsN3 (plot by adjDAT)
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Days After Budding

P10AE TsN4 (plot by adjDAT)
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P10AE TsN5 (plot by adjDAT)
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P10AE TsN6 (plot by adjDAT)
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Plot Env Data

301 : : — co2
! 201 ' - i
! I 600 —— CO02_imp
1
25 - 10-
500 -
20 01
1 400
1 '10_
15 - 1 — T — TO
1 . .
— T.im —— To_im
: -MP 1 20 . -mP
0 50 100 150 0 50 100 150 100 150
T
—— RH
] 600 -
—— RH_imp 400
500 -
300 - 200 - :
1
200 - 3001 l
1
200 - ]
—— PPFD
100 !
100 1 ! —— PPFD_imp
1
100 150 0 50 100 150




Plot [['sfTemp’, 'sfInit’, 'sfDev’, 'sfDem']]
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Plot ['sfDemLfA']
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Plot ['sfDemFrV']
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Plot EnvOpt Decision
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